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sRGB data rgb*, XYZxy, and L*ABChAB1 in L*AB1JND-colour space

Tristimulus values of black and white: YNn=40,3, YWn=88,6, YWa=88,6.
rgb*d L*d A1,d B1,d CAB1,dhAB1,d

Rd 1 0 0 76 25 10 27 21
Yd 1 1 0 93 0 42 42 90
Gd 0 1 0 89 −25 31 41 129
Cd 0 1 1 90 −25 −10 27 201
Bd 0 0 1 72 0 −42 42 270
Md1 0 1 78 25 −31 41 309
Nd 0 0 0 69 0 0 0 0
Wd1 1 1 95 0 0 0 0
a1 = a20 [ ( x − xc ) / y]
b1 = b20 [ z / y]
a20 = 1,  b20 = −0,4
xc = 0,110,  Bc = 1,000
A1 = 2,5 (a1 − a1,n) Y [1c]
B1 = 2,5 Bc (b1 − b1,n) Y [2c]

CAB1 = [ A1
2 + B1

2 ] 0,5 [3c]
hAB1 = atan [ B1 / A1 ] [4c]
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